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= Thigs is amqloaou.s 4o ECY) for a
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Note: TE +ee Sur':or'l‘ of V s <Some
subsel  of the real line, we need or\ly
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Theorem: TF 4(Y) is a function of

Continuous r.V. Y) +Hien
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T heorem ITf ¢ 1S a censtant and
31(\{)) 32_(7))-“) jk(\f) are functions
of a continuous V. Y, then:
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-Tl«e FPOO'FS o-p -H\Q aL_Love +Leor-ems avre

similar Yo thoese n +Hhe discrete case.

Exa..mp (V«r\av\c&\ I.Q Y 'S a
C0h+lnLLOLLS Y“.V.J ‘H«& variance o‘\c Y 1S

where = E(Y).
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No‘\'&: I—F C. is a _conS‘]ln'l') +hen

g)(aum?le. 1 a.jadn: Find E(Y)/ V(Y1) and «.
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ExaMple l‘- SULFFOSC- a. \ou.s S suﬁmsd

‘o arrive at a bus S‘I‘DP al B:00 a.m.
Tn T‘e,&ll‘l‘y) i+ s &t\kﬂ."\, |1k€.’7 +o arrive
at any +time belween 3:00 and %10 am.
—let Y \e Hhe wamber s+ minutes af+ter
3:00 "Hf\q_'l' ‘qu_ bus arrives.

—This S a Simlb{e_ ua.w\flg o‘p a
ContinuousS V.

D&‘Cn: A r.V. M has a LLY\.l'pbr"M
probakility distribution on the interval
[6,,6,] {Sherthand: Ynunif (0,007 if
ts Fo\‘? 1S

Frov.ld.eﬁl 9\ < ez. .

"No‘f& 'HI\.IS 1S a ‘Rxnc:ﬁon
of 4 on the Suﬂzor'f of VY.




Grali\« of uniform ?o\ﬂ:

_Simple qeometry indicates the fotul
area under +the densi+7 1S

"‘Emm!:\t 1: What s -\-\«e_ Froka.l)ili'}“] 'H\Q.
bus will arrive between ¥:0O2- aun(l 8305?

-What is e ‘Fro\bojo‘llf'l‘;f i+ will arrive
after %:0¢°



—The cdf of a uniform rv. is easy
4o derive .
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Graph of <df:




\'\e.O remn | Um rm €an 4 V r
:[ | '(‘D ‘“‘l an a Il a.nC.E.) :

Ero o‘F :




_‘S\LH:OS& ‘er- number D‘F eveyd*s \/ oCeuUrry
in a time interval (0,t) fKllows a Poisson
distribution . Then jiue_n Hat exa.cHy one

event ocecurs in (0, tj) Hie tHwme T at
which +he event occurs Hollows a

EX“MF\G— 1 Sufrose -H-\e numl:ex o'p cusStomers
per minute. at McDonald's Lllows a Poissen
distributon. ITf &XQC‘Hy one customer
arrives belween T7:00 and 7:05) +hen
find the probability that +his customer
arrived lelween T7:02 and 7:0%.

~The values e, and B, are m\ld -|—Ll¢‘
?QY‘AMd'US of the unform distribution.

.-Tl«e vdues o-C a alu\si'l‘y's ?CU"G.MQ."‘US__

determine the SFec.f‘pfc form of +he clensi'l'y.
T 820 and 8,=1, the Unif (o,1) distrib-
ution is called the standard KH'I'FBY‘W: distribution,




